AR : g, SrgeT e !{{ﬁ'qq HRURYE A% e fafrs, q‘@ﬂg{ @/ Phone : (0657) 2730122

Cable : UCIL, Jadu’guda Mines 2730222, 2730353

~  PR# List (SRS TR 1 HE) 7/ Fax  © (0657) 2730322
1. 8/PR188622 ’ , ST : FS] HE, AREUS-832 102 (0657) 2731332
URANIUM CORPORATION OF INDIA LIMITED 0 _ .
(A Government of India Enterprise) E-mail: jadpur@uraniumcorp./i
P.O. Jaduguda Mines, Jharkhand - 832 102
ysdw / Enquiry
a1 # / To forems wX 7w Hed fora
QUOTE THIS REFERENCE ON THE COVER
- 2/PE172060/8

gears |0 / Enquiry No.

21/11/2017
ari@ / Date

)4

25/12/2017
T ard / Due Date

“\"1

HETI,
Wﬁmﬁ%mﬁﬁ%%%m%ﬁﬁ%gﬁaﬁtaﬁsﬁ%mmﬁmﬁl O T AR
T’ A Juges W W P aie 3 98 I A S|

D., RANCHI. PH : (0651) 2206181, 2314290 _ _

N

MADHURAJ IMPRINTS PVT. LT

Dear Sir,
Kindly submit your quotation made out as per instruction overleaf for the supply of stores detailed below. The quotation
should be posted to the "Purchase Department" at the above address to reach before the due date. -
FH H0 ' HTAT
e 3l No. HTHT T A / DESCRIPTION OF STORES QUANTITY
£ Please refer the attached annexure for materials’ details.
",
7
d
T
Note : 1. Please quote your rate in figure and word without overwriting / cutting and
C submit your offer in duplicate for consideration.
2. FAX OFFER WILL NOT BE ACCEPTED.
3. Your offer should be valid for minimum 90 days.
— 4. Entire Bank charges, if any will be borne by you.
5. Our terms of payment will be full within 30 days from the date of Receipt &
acceptance of materials.
~ TR . . , s / Yours faithfully
Enclosures Bk UREL! a1k sfea fafies ,
Annexure:A, 1,2 & 3. - For URANIUM RPQ ION OF INDIA LIMITED

RHIL RAJ o")))\\\\\\‘)(



ﬁ gz SI.No. |[Material Code |[Material Description Quantity | Unit
§ ‘ 1 700025306028 | END COVER GASKET/SHIM OF 6/4 EAH WARMAN PUMP 20 | Number
‘:H 2 700025306030|CLAMP BOLT OF 6/4 EAH WARMAN PUMP 20 | Number
% 3 700025306031 | COVER PLATE BOLT OF 6/4 EAH WARMAN PUMP 20 | Number
8 4 700025306032 | FRAME PLATE STUD OF 6/4 EAH WARMAN PUMP 20 | Number
s, 5 700025306033 | FRAME PLATE LINER STUD OF 6/4 EAH WARMAN PUMP 20 | Number
g [ 700025306034 |GLAND BOLT OF 6/4 EAH WARMAN PUMP 20 | Number
F 7 700025306036 | GREASE NIPPLE OF 6/4 EAH WARMAN PUMP 20 | Number
# 8 700025306037 | COVER PLATE BOLT OF 8/6 EAH WARMAN PUMP 20 | Number
e 9 700025306038 | FRAME PLATE LINER STUD OF 8/6 EAH WARMAN PUMP 20 | Number
?,— @ 10 700025306039 | FRAME PLATE BOLT OF 8/6 EAH WARMAN PUMP 20 | Number
Er 7 700025306040 BASE OF 4/3 DAH WARMAN PUMP 1 Number
z 12 700025306041 |BASE OF 2/1.5 BAH WARMAN PUMP 2 Number
& 13 700025306042 | GLAND WITH CLAMP BOLT OF 2/1.5 BAH WARMAN PUMP 6 Number
éf 14 700025306043 |END COVER GASKET/SHIM OF 2/1.5 BAH WARMAN PUMP 10 | Number
g 15 700025306044 | GREASE NIPPLE OF 2/1.5 BAH WARMAN PUMP 20 | Number
$ 16 700025306051 | BASE OF 6/4 EAH WARMAN PUMP 1 Number

)

1.Bidder Should submit their offer as per terms & conditions given under
Annexure 1, 2 & 3[ANNEXURE -1({Pre —Qualification Part) ,ANNEXURE-
2{Technocommercial Cum Price Part) & Annexure -3 {Pre-Qualification

Criteriall
2.Please do not send your offer in hard copy. Bidder should submit their

_ m offer through our website i.e. www.uraniumcorp.in or
www.tenderwizard.com/UCILEPROC ofkiv

Dy. Supdt {Mech/Purchase)



